LONG MULTIPLICATION

2-DIGIT BY 2-DIGIT
WORKSHEET - 4

36 59 41 42

x 28 x 14 x 89 x 75

288 236 369 210

+ 720 + 590 + 3280 + 2940
= 1008 = 826 = 3649 = 3150
33 59 43 38

x 72 x 67 x 44 x 19

66 413 172 342

+ 2310 + 3540 + 1720 + 380
= 2376 = 3953 = 1892 = 722
41 37 58 54

x 69 x 60 x 17 x 82

369 0 406 108

+ 2460 + 2220 + 580 + 4320
= 2829 = 2220 = 986 = 4428
42 33 57 41

x 99 x 80 x 14 x 73

378 0 228 123

+ 3780 + 2640 + 570 + 2870
= 4158 = 2640 = 798 = 2993
52 52 35 56

x 84 x 46 x 37 x 37

208 312 245 392

+ 4160 + 2080 + 1050 + 1680
= 4368 = 2392 = 1295 = 2072
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